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Note :  Answers may be written either in English or in Hindi;
but the éame medium should be used throughout the
paper.
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Attempt any Five questions.
All questions catry equal marks.
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1. Define intemational marketing. “The marketer’s task is

the samie whether app]ie& in New York, New Delhi or

Nottingham.;’ Discuss this $tatement and point” out the
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conditions that ‘ha\_re led to the dcvélopment of global
markets. .
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Differentiate between a global company and a multinational
company. Discuss the three factors necessary to achieve
global awareness and illustrate the idea of global

orientation.
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Discuss the basis of world trade. Give examples illustrating
different bases. Why study geography and a country’s
history in international marketing? Give reasons for your

answer,
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Differentiate between :.(i) Private ownership and family
ownership; (if) Decentralized and committee decision
making. Why is it important for the business executive
be alert to the significance of differing management styles?
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‘A crucial fact when doing business in a foreign country
is that permission to conduct business is controlled by the
government of the host cduntry.’ Comment. What are the
main factors to consider in assessing the dominant political

climate within a country?
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Discuss how the shift from making market emtry decisions
to continuous operations decisions creates a need for
different types of information and data. How.will entry
into a developed foreign market differ from entry into a

relatively untapped market?
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Define strategic planning. How does strategic planning for
international marketiné differ from domestic marketing?
Nustrate the effect of shorter product life cycles on a

company’s planning process.
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Formulate a general rule for deciding where international
business decisions should be made. Why do companies
change their 'organizations when they go from being an

international to a global company?
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Discuss the different promotional/product strategics

available to an international marketer. What are the three
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major components of a product? Highlight their importance
to product adaptation.
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Write short notes on any two of the following :

(@) Differentiate among : subordination; lubrication;

extortion and bribery.

() Three ethical principles that. provide a framework.

to distinguish between ‘right’ and ‘wrong’. .
{c) Popl;llau'it;'r of joint ventures.
(d) Counter trade.
frofefen & ¥ Rl @ w dfww feadt fafen
(%) anfiraam, S, sam men o gaErd #§ fadg
‘ i) :

(@) ‘v’ ol ‘e’ § fr w0 @ faw d wew
w0 A dH Afew feg

(1) we-STH F crwh

(%) wie-=mR |

300



